LT

EXAM - CGP - 19
et s Question Paper — -

I wem / Aptitude Test

| seT-B |

. F@ ¢ 200
Hﬁtmaﬁmm 12 uwR aW:Marks:zoﬂ
Tlmeformarkingnnswers ¢ 2 Hours } Maximu
A ;

1, T A9 H 100 w § | WRAE WG 2 dF H R |

B wﬁ%méﬁﬁﬁﬁ:mﬁﬁﬁaﬁaﬁawmﬁﬁ@iwa@ e
F TN, & T FR-afe (3R $fi7) R aifrg ifm |

3. et oft e ¥ Semves a1 i e o e W i @ |
Note ;

1. This question paper has 100 questions. Each question carries 2 marks.

o

Read carefully instructions regarding method of answering questions given on the last page
and indicate your answers on the Answer-Sheet provided.

=

Use of any type of calculator or log table and Mobile Phone is prohibited.
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W 1.
: . 3) Directions : (Qns. 1-3)
s ﬁfq:ﬁ; T 8 A I In the following questions, WO
'F‘TQ?ET J S198p T R _ db
IEIIQQT@ . statements S1 & S2 are given followed by
8 SR 81 e gy . . }
mtrmﬁgq N _ 2 two conclusions I & II. Taking the two
ﬁﬁﬁq ’ ﬁﬁﬁ:‘:ﬂﬂ’(A) (B)(C),(D) | statements SI and 82 as true, decide which
Rlaees e w9 Y NG one of the answer (A), (B), (C), (D) logically
= YT . follows.
1. Statements:
S+ 3% et wergr 8 |
5 S1 : Some players are brave.
. wm?ﬁ'@é l S2 : All boys are brave.
et 1 - 7% fawmd, wed 8| Conclusions :
II : 5 o, faamdr ¥ I : Some players are boys.
(a) aﬁ?ﬂm e II : Some boys are players.
(a) Only I follows.
(b) ST R

() FIRINTHERE |
(d) S ITNTER S |

(b) Only II follows.
(¢) Neither I nor II follows.
(d) BothIand II follow.

Boow 2. Statements:

S1: Wit T, TR | S1 : All girls are engineers.

S2 : woft arh, wefFai § | S2 : All travellers are girls.

frod 1. mft e, Softfrm g | Conclusions :

11 ; o+ft wrefonat, ami & | I : Alltravellers are engineers.

(a) HaA I EAIR | II : All girls are travellers.

(b) I TR | % (2) OnlyI follows.

(©) Al AT RS | l (b) Only II follows.

. X ! (c) Neither I nor II follows.

= SIS, ¢ % (d) Both Iand II follow. 7
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S1 : ¥ Forelt e () Y e W
HHAT R |

S2 : 7o < feremeff areet e v
WA g |

ﬁﬂﬁl:ﬁﬁmﬁrﬂﬁwaﬁf@
11 : 3 o oY fRemefi R |

(2) SaA IS |

(b) HeI ST BT @ |

() TIMATUIEEE |

(d) aﬁiiaumgﬁ%

WY : 1) FHeb! hl HEa R R 7

FYT1(S1) : SR HTIMATR |

HYF 2 (S2) : TSI HI 2 | T FA N

T §H T T B & |

(2) ¥ S1, T H I T F g
T R |

(b) Fae S2, I HT IFW W F o7 f
T 2 | l

(c) S1 T S2 QH ferat *9 &1 IW &
FHAG | |

(d) S179 82 cRi et Fv7 1 I
¥ o vaia T # |

Statements :

S1 : Renu can understand the problem
quickly.

S2 : Mathematics students have good
reasoning ability.

Conclusions :

I : Renu has good reasoning ability.

II : Renu is Mathematics student.

(a) Only] follows.

(b) Only II follows.

(c) Neither I nor II follows.

(d) Both I and II follow.

Questions : Is the two digit number
odd ?
Statement 1 (S1) : Sum of the digits is

even,
Statement 2 (S2) : The number, when
multiplied by 2, fetches an even
number.

(a) S1 alone is sufficient to answer the

question.

(b) S2 alone is sufficient to answer the

question.

(c) Both S1 & S2 combined can give
the answer of the question.

(d) Both S1 & S2 combined are not
sufficient to answer the question,
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A monkey climbs 2 pole of heig

5, Wil g wEgde s | 5 - cimbs
T8 fire o 15 Hie el [ %ﬁ @ 30 metres. In the first minute, ¢ o
e 129 15 metres but in the second minute SIP

12 et vt :
) TS T S down 12 metres. The process continués
T L W @ | i1l he reaches on the top of the pole-
S ol o TG 1 @ Time required to reach on the tOP of the
(a) 10fme pole 18
firme (2) 10.minutes
(b) 11
(b) 11 minutes
i 12T (c) 12 minutes
d) e 1S T (d) None of these

6. WUF WWW% | 36 3 ﬁag}m 6. Mahesh has some apples. He gave half
) fou R TW ¥ 1 39 TG & R | of the apples to Suresh but got 1 apple
T e TR Y e et § back from Suresh. Then he gave half of

q&1 )
' i the apples available with him to Dinesh
o & o 13 feg e | & 3 and got 1 apple back from him, Third
e & feram | ) whohen S, et T time he repeated the same process With
off, gﬁm%wm | 3= 3 3% TE Harish. In the end, he was having the
WA e B o B & | TR same number of apples which he had in
3 s qm AT A “ & the beginning. Number of apples he had
' a1 .
™ in the beginning is
@ 4 - @ 4
(b) 6 ®) 6
(c) 8 © 8
@ AT (d) None of these
CGP-19-~-02 Page No. 5 ~ set-B
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7. qRN=75-3B WNIWE@ER | 7. [EN=7%-35, then the digit at the unit

A5 place of N is
@) 3 (a) 3
(b) 4 (b) 4
(c) 6 | (c) 6
@ 7 @ 7

8. TWAAT1350dQaeqismahi 138 | 8  Sunil bought two items in ¥ 1,350. He
sold one item at 6% loss and another

T g 1 6% T R a1 gl &1 7.5%

7 NS i item at 7.5% profit. This deal finally
Sl S ' A i, 3 g ends with nio profit no loss. Purchase
T | G 3T h S e, T § price of the two items are respectively
(a) 850,%775 (a) T850,%775

(b) T 825,3725 (b) ¥825,%725

(¢) ¥750,%600 (©) %750, 600

(d) °% 712,650 (d) T775,3 650

9, 999 3K 4000 % 7eA (i @@ | 9.  How many integers between 999 and

70, WA s S st 0, 1, | 4000 (including both) can be formed,
2,39 4 8 T ST G § AR 3ih) ) using the digits 0, 1, 2, 3, 4 if repetition
W-@ T 9 of digits is allowed ?
(2) 325 (a) 325
(b) 376 - (b) 376
(c) 425 | (c) 425
d) 526 ! (d) 526
CGP-19-02 Page No. 6 Set-B
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w 10 Pt ot % 2 v s | 10, Find the next (wo terms of the
R . following series : E
ADB, EHF, ILJ, __, ADB, EHF, IL, _» —
(a) LOM,NOQ (a) LOM,NOQ
(b) MPN, QTR (b) MPN, QTR
(c) LMN,OPQ (¢) LMN, OPQ
(d) NPQ, MNP (d) NPQ, MNP
o 11, Frfoafea 3 CUC AR 11. What are the next two terms in the
following ?
6,11,15,18,20, __,
, 6,11,15,18,20, _,
(a) 22,23
(@) 22,23
b) 21,22
(®) 21, (b) 21,22
() 21,21 © 21,21
(@) 20,21 (d) 20,21
w12, P,QR, 87 ToltEE T, S | 12 There are 5 friends P, Q, R, S and T.
npATEL IR, S I 2 A Q, T is shorter than S, but taller than P. R
L is taller than S and Q is a little shorter
S B a TR UG ar g | Hed
. than S and little taller than T. The
Bie1 S TR ST A 8 :
| shortest and the tallest are respectively
(2) PSR (a) PandR
(b) TAP (b) TandP
(c) SAT (¢) SandT
(d RIQ F | (d) RandQ
CGP~19-02 ¢ P Page No. 7 Set-B
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13. AR mREE ()R wATTE | 13, Which letter will appear if
JT&TT 3T ? in the following figure ?
IPID I1|/P|D
K|IQ|G KIQ|G
M|R|? R ﬂ
(a) H (@ H
(b) I (b) I
| (© K () K
" (d) THAHETE (d) None of these
r 14. Wﬁ'ﬂﬂ. F,, F33ﬂ'{F4QEa?WEﬁ%‘QT 14. Four friends F, Fy F, and F, are
Qe R & | F, 1 980 I H! ARAUTF, playing on a carom board. F, faces
1 S50 W hit MR | F, a1 F towards North and F, faces towards
1 2 .
West. F, and F, are partners. Who is
Feartt € | forae S50 gfi i TR R 2 ' 2
_ facing towards South ?
(a) F, @ F,
b) F
(b) F, B
c) F
(c) F, O F,
(d) F,
d) F,
15. WIARERS | Tepan fiysron ﬁ, 20% T | 15. In 1 kg. mixture of sand and iron, 20%
2 | e Yo 3 frer e s e e ; is iron. How much sand should be
added so that the proportion of iron
firsyor & et 10% &1 9 ?
; becomes 10% ?
(a) 2 f&w.om. , o
(b) 1.5fw.m | ) 15ke
() 1%, | © lkg
(d) 0.5f%.m. ! (d) 0.5kg
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16. Torelt ufer o, wig W | 797 R qen
s, & ot & 1 2 ot Rt
TOR weH o © | WiE 919 /1181 @
ST @ | i 8 e R A 2

7t from the left and

In a row, Pramod is

Prakash is 9" from the right. Both of
theijr  positions:

16.

them interchange
Pramod becomes 11 from the left. How

many people are there in the row ?

(a) 17 (a) 17
(b) 18 (b) 18
(c) 19 (© 19
(d) 20
(d) 20
3w : (7 17-18) Directions : (Qns. 17-18)
3 foer v wré < iferer & o R dThe Y chart iiven beéow rfeprf:lscnf:
the domestic expenditure of a family 1
® W 8 IR FH percent. Study the chart to answer these
T3t 1 IER S Afe TRER 1 Fof ATih 3T | question if total monthly income of the family
7133 650% | is ¥ 33,650.
B A | B
;; s s | 18 i
D
D E
E 23 23
13 13
A g;h—;ﬂ:[ 1 A FOOd
B R B House rent
. C : Entertainment
Cc : TARSH
D Education and maintenance of
D = i fena W-@N’UT children
E Fafpedr w@ I HG E : Medical and miscellaneous
F . wfrsy fafyr F Provident Fund
-y—r£
CGP_19-02 1o 3F0P 43 350-5 page No.9723¢-5 Set-B
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17. The total amount per month that the

g 1 AR G W AR T 3 e
ﬁﬂ'ﬁ:ﬂﬂﬁaﬁfiﬁﬂéﬁrﬁ%: family —spends on food and
- ined together is :
(2) T 12443 entertainment combined t0g
(b) ¥ 12,315 (a) T12,443
(c) T11,432 (b) 12,315
(d) T11,441 (c) T11,432
(d) T11,441
18. i T & 18, The house rent per month is
() 36,000 (a) 6,000
(b) T6,152 (b) ¥6,152
(c) ¥6,057 (¢) ¥6,057
(d) 36,048 (d) 6,048
19. §E "i'@ﬁT% U KA R e el 19. Find the next two terms of the
Z,8,W,0,T,K,Q,G,,? following series :
Z, S) W, 09 T: Ka Q’ G’ ?’ ?
(a) N,C
(@ N,C
® N.D (b) N,D
(c) O,C © 0.C
(d O,D @ 0,D
20, 9f¢ HINDU & et gbfus wmy & | 20. IfHINDU is coded as 61257 and MAN
61257 NMANI 932 for@rman®, @ | is coded as 932, then INDIAN will be
I grekfas WS § INDIAN &1 forar ; written as :
AR | (@) 125312
125312
&) 1253 ]l (b) 125132
©(b) 1125132 |
) 121523 | (d) 121523
|
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» M. AR Feelt of o1 94 o o ey | 21, Wfamonthinayear starts with Monday,
AT e & o 3w W Rl vhER @ then the date of the fourth d2Y aﬂ'cr the
e fom A fafer B | second Saturday in that month, will b
(a) 16 (a) 16
(b) 17 b) 17
(c) 18 (© 18
(@ 15 @ 19

2. AmiEmiFeaiqai aisad | 22 Inthe following series some letters are

missing. Select the correct set of letters.

T T o L |

acbabacac
acbabacac _C_D_8D_¢ b

(a) abacch (a) abacchb
(b) accbab (b) accbab
(c) aabbcc (c) aabbee
(d) baccbb (d) bacchb

w23 A, B 3 o 8, 7g C e g | 23. Als taller thart B, but not as tall as C.

3 | D, E & & wg B foren e et D is taller than E, but not as tall as B.

} | TR TR TR

Who among them is the tallest ?

@ C (@ C
®) B ®) P
© E ) E
d) A | d) A
CGP-19-02 . Page No. 11 — Set-B
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. WRIH TR 24.  Choose the correct group :
NHP : OGQ :: TLJ : ? NHP : 0GQ:: TLJ:?
(a) UKL (a) UKL
(b) VKK (b) VKK
(¢) UKK (¢) UKK
(d) KUK (d) KUK
25. T e ol RRen i SR 3K 198 | 25. A girl is facing South. She tumns 60° in

w3 1 g3 i fow & 60° PelSIG B the clockwise direction and then turn
AR B o6t g8 <61 el fewm 3 1050 105° in the anti-clockwise direction. In
TR | w g frm e H R 2 which direction now she is facing ?
(a) I (2) North-East
®) ™ (b) East
© (c) West
(@) g (d South-East

J 26. A9 B A g % B 3o ) ) o | 26. A to B, “Yesterday I met the only
Foheird WS & firem 17 A e e brother of the daughter of my grand
(a) HRHA mother”, Whom did A meet ?
(b) W (a) Cousin

' (b) Brother
(c) et |
| (c) Nephew
(@ foam I (d) Father
CGP-19-02 o Page No. 12 ~ >
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a7, 27-28)

Pefefan s 3 vt 1 s,
TR e e 5 8 o R T
27. 1. e

2. TR

3. W

4. Faf¥

5. fasmem

6. G

(@) 5,6,2,3,4,1
() 5,6,3,2,4,1
(c) 5,6,4,2,3,1
() 6,5,4,2,3,1

v 28. 1. 9f@ER
2. WA
3., #eHE
4. TATHI
5. %W
@) 3,1,2,5.4
® 3,1,2,4,5

(c) 3,1,4,2,5
(d) 3,1,4,5,2

|
|
|
|
|
|
|
I
I
I
|

Directions Qns. (27-28) :
In each of the following questions,
e the words in 2 meaningful, logical

arrang ‘
propriate

crder and then select the ap

sequence from the alternatives given below

each of the groups of words.
27. 1. Probation
Interview
Selection
Appointments

Advertisement

AN S B T

Application

(a) 5,6,2,3,4,1
(b) 5,6,3,2,4,1
(c) 5,6,4,2,3,1
(d) 6,5,4,2,3,1

28. 1. Family

2. Community

3. Member
4, Locality
5. Country

(a 3,1,2,5,4
(b) 3,1,2,4,5
() 3,1,4,2,5

(d) 3,1,4,5,2

GP-19-02
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. 29. ‘ADJECTIVE’ =% ¥ @ yo% @R # | 29, Each vowel of the word ‘ADJECTIVE’
3TilS SUTHTET < TR J7&R & 9T T is substituted with the next letter in the
S F1 355 o aeR ¥ yfeenfia English alphabetical series and each
R T &, R TR e e & e consonant is substituted with the Jetter
S preceding it. How many vowels are

present in the new arrangement 9
(a) W
(@) Four
(b) TH
(b) One
© 7
() Two
d) =
@ (d) Three
¢ 30. I UNIVERSITY Wg % aami § ‘A’ | 30. If from the letters of the word
@ ‘B’; ‘B’ & ‘C’ @1 e g 39 YN UNIVERSITY, ‘A’ is written ‘B, ‘B’
T :,ﬂq*’ @ Fefeafeq s A @ 9 is written ‘C’ and so on, then which of
AT A e & R e F W o the following letter is the third to the
T e R 2 left from third letter from right ?
| M
(b) A (b) A
(c) Z (c) Z
(d) FHIAFETEH -(d) None of these
CGP-19-02 Page No. 14 o Set-B
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e 3L ma%'ﬁﬁﬁa’fwé,aﬁmm 31

petween first

The relation which is in .
¢ relation

two, establishing the san

N S ST petween the Jast two gill up the spacc of
ﬁ'@*meﬁﬁw: question mark.
TALE : LATE::?: CAFE TALE: LATE::7: CAFE
) RaGE (a) FACE
(b} CAEF (b) CAEF
(c) FEAC (c) FEAC
(d) CEFA (d) CEFA

« 32 Ll ﬁ AU A 8 o Taw g s | 32 Present age of mother is three times the
GIERCIRARY 9 =g 71 Iy 5 A present age of daughter. After 12 years
g H QT St | R adwe mother’s age will be twice of daughter’s
Iy foperft @ 2 age. What is the present age of daughter ?
(a) 18°d (a) 18 years
(b) 16a% (b) 16 years
(c) 14 9% (c) 14 years
@ 1299 (d) 12 years

o 33 EiEE R call fiqa;qa@z{%, e 9g } 33. One term is missing in the following
1 T T | series, find the missing term :

M3V, 05U, R7T, T9S, W1IR, ? i M3V, 05U, RTT, T9S, W1IR, 2
@ YI13Q | (a) Y13Q
(b) Z13Q ‘ (b) Z13Q
() YI3P | (© Y13P
@ YI15Q I @ Y15Q
CGP-19-02 Page No. 15 : e
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R (e smn 34-3)

et el w annta i %

W i

() ‘PxQw e p,Qwfar?’
(i) ‘P-Q w & ‘p, QA TEHY
(iii) P+ Q w31 P, QW &’

(iv) P+ Q 1 1Y ‘P, Q&I Wi &’

| Directions (Qns. 34-35) :

Following questions are based on the

information given below :

(i) ‘P x Q’ means ‘P is father of Q’
(i) ‘P=Q’ means ‘P is sister of Q’
(i) ‘P + Q’ means ‘P is mother of Q’

(iv) ‘P + Q’ means ‘P is brother of Q’

34. B+DxM+NafeafmdM®B® | 34. Inthe expression B+ D x M + N, how
a2 | is M related to B ?
(a) it (2) Grand Daughter
(b) e (b) Grand Son
(c) Son
(c) ¥ .
@ o (d) Daughter
35, frdgEn R o € 1 R, Ml l 35. Which of the following represents ‘R is
B ici k- niece of M’ ?
(@ M+KxT+R ! () M+KxT+R
(b) M-T+R-N (b) M—J+R—N
(c) R-MxT+W (©) ReMxT+W
(d) R+MxT+W |
I (dd R+MxT+W
CGP-19-02 Page No. 16 Set-B
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36.

qQ ‘eraser

T I e fremem 9
(a) scale

(b) pencil

(c) bag

(d) pen

‘ ‘scale’, ‘scale’ H | 36.
sharpner’, “sharpner’ st ‘pin’, *pin’ Hl
‘bag’ q ‘bag’ i ‘pencil’ %71 T R, Gt

37. ®91: W AC,DCE, $oDC, ECE, | 37.

T EC, YY R |
e
(i) $OAC,EC? |
(i) $SYY,DCH |
(i) ¥ AC, ECTE & |
(iv) ™ DC,ACE |
at ad fread 2
(a) ()
(b) Hae (if) |
() (i) 3 (i)
(d) (if) 3 (iv)

38, YUWATB, 125 Bt AgPma 1l | 38

T SAfH P, el A ¥ WS B ) TG
07:30 53, 25 fop it sl g il & 3R
=fF Q, TR B & T& A HI 3R T
07:00 =, 30 6.5 fe 7 ¥ fa &

|
l
|
|
|
|
|
|
|
|
!

If *eraser’ is called ‘scale’, ‘gcale’ 1S

called ‘sharpner’s ‘sharpner” 1S cal]e'd

‘pin’, ‘pin’ is called ‘bag’, and ‘bag’ 15

called ‘pencil’, what will a person €rase

with 7

(a) scale

(b) pencil

(c) bag

(d) pen

Statement : All AC are DC, some DC
are EC, all EC are YY.

Conclusion :

(i) Some AC are EC.

(i) Some YY are DC.
(iif) No AC is EC.

(iv) AllDCare AC.

then correct conclusion is :
(a) only ()

(b) only (ii)

(c) (i)and (iii)

{d) (ii) and {iv)

Two cities A & B are 125 km apart.
Person P started from city A towards
city B at 07:30 a.m. at the speed of
25 km/hr and Q started from city B
towards city A at 07:00 a.m. at the
speed of 30 km/hr, then they will meet

Tefa & al & foman st fired 7 at
(2) 09:30 a.m. (a) 09:30 am.
(b) 09:45 am. (b) 09:45 a.m.
(¢) 10:00 a.m. (c) 10:00 a.m.
(d) 10:15am. (d) 10:15 am.
CGP-19-02 Page No. 17 Set-B
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3. 65 a1 2 gl Rl e SRA | 39, 6 boys and 2 girls can o a work in g
¥ & T 8, SafF 13 @ aut 7 days, while 13 boys and 7 girls do the
TSI 3 R 2 Rt d s awd &, same work in 2 days. Then 7 boys an
?h 7 mw 3 Waﬁ w?’ﬁ W 3 gir]s can complete the same work in
TR |

(a) 4days
() 4fedid
I

C (b) 4z days
b) 4t ) 5oy
() 6feaid (c) 6 days
(@ 6 fet (@ 6L days

P P+ ) P+Q.. P
% 40. qﬁ'6=7ﬂﬁ'ﬁ'_%$rﬂﬂ% 40. WhatlsthevalueofP_Q1fQ—7?

(a) 1/3 () 13
(b) 2/3 (b) 2/3
(c) 4/3 (c) 4/3
(d 718 (d) 7/8

41. PaunQ fircre fopelt v ahY IZWﬁT\T 41. P and Q together can do a work in 12
FERAIE | QAMR6femd | PAATR | days. Q and R in 6 days. P and R in 4
gfed, @ P, Q, R T 914 fiee %™ ’ days. If P, Q, R work together they will
B T H : # complete the work in :

@) 2ftd (2) 2 days
(b) 4feid | (b) 4 days
(c) ST (c) 5 days
@ shftd { (@ 5% days
CGP-19-02 Page No. 18 ) Set-B
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2. TR & i e .
! . A T | 42. Which of the following is included in
A

interpersonal skill ?

N B W T I R (a) One’s ability to give cormrect
ul answer to the question.
(b) SRR T IR % Ty e (b) One’s ability to interact effectively
Wmﬁ T | with other people. '
(c) Wﬁwmﬁmmm (c) One’s ability to do his/her work 1
1 vy | properly.

(d) One’s ability to present ideas at a

(d) e 6 oo § R e w0
B

conference.

43. FeIRem & 7 & #7F FHRS | 43, Which of the following are influencing

I B TR 0 T & 2 factors of interpersonal skill ?

(i) = (i) Experience

(ii) ®I-T1 (i) Appearance
(iif) TREW (iii) Family
(iv) fom (iv) Friends
(a) G, (i) T (i) @ (G, Gi) and (v

(®) (D), i) T (i) (b) (i), i) and (iid) |
(©) (@) (i) T (iv) © (@), (iii) and (v

@ (@, 6, (i T @) | @ GG Gi) and )

|
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45,

46.

. Al AT TG & T I TR & frh
ws < T & wamn a1 e e
9Ed €, o galfte STgw wsm
et dwm e g ?

(a) TTE-E HEI

(b) fo-wmita e

(c) Irmfsesh wRIvo

(d) S gEi

T T 1 7D SdarRE B 4

T ARl %1 AT @ D

(a) 3 IR IAEHFREAE |

(b) 3w 1 G TN & |

() ¥ 3w F Sy vATeHes A
WA g |

d) e

Fradataes TR 3 githferd &
(i) mmagw

(if) e

(iii) ST AT

(iv) g

(a) hefe (i), (iif) T (iv)

(b) e (i), (iii) TH (iv)

(c) hefed (i), (if) T (iii)

(d) (), (i), Giii) T (iv)

44,

45.

46.

—— T T T e\ — TA—— W————d T m———

If you want to address or to make aware
all the citizens of your state about a
particular programme, then which of
the following is the most appropriate
communication 7

(a) Small group communication

(b) Two-way communication

(c) Non-verbal communication

(d) Mass communication

People with good interpersonal skills
are required in an organisation because

(2)

They are more productive.

(b) They look for solutions to
problems.

(¢) They have positive attitude
towards their work.

(d) Al of these.

Interpersonal communication includes

(i) Active listening
(ii) Persuasion

(iii) Suitable language
(iv) Feedback

(2) (i), (iiii) and (iv) only
(b) (i), (iif) and (iv) only
(©) (), (ii) and (iii) only
(d) (1), (i), (iii) and (iv)
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47.

RIKED .
R qm% gt INFTTHEE | | 47. Pal has some hens and some goats. Ifall
- | F 343 T 3 ot et 142 heads of animals are 43 and feets are 142,
AALC I $5 foreeht it 8 9 then how many hens Pal does have ?
a
® 12 (a) 128
(b) 21 1
(€ 15
(c) 15
(@ I'H“tﬁ‘fﬁfmmm ,
(d) Cannot be determined.
4. ™ H SIE Ul 48. Read the given statement carefully
() 77 et g (i) Number of minutes in 7 days.
. (i) Number of hours in 60 weeks.
(ii) 60 Tt  wet <6 W
Choose the correct option :
et forereg i
Eﬁﬁ ) (a) The quantity of (i) is greater than
(@) (i) (i) R AT R IR R quantity of ().
(b) (i) s (i) Fr AT & SRH R | (b) The quantity of (ii) is greater than
. . quantity of ().
(c) QT <Y BT TR | »
. (c) Both quantities are equal.
(9) T e =t i e | (d) Comparison cannot be determined.
49 ' ¢
W 4 Inmnmonammnmommmminmman 49, mMnmnmnnNMmMoMNMMmMMmmDNmmn
N Gl L e
S W m R E@E?ff ‘m § 3R How many m’s are preceded by ‘m’ and
3T ‘0’ B 2 followed by ‘n’ ?
(a) 2 (2) 2
(b) 3 | (b) 3
(c) 4 | (c) 4
) 1 ! @ 1
CGP-19-02 i ‘“Moio Page No. 21 A Set-B b
24 2% ° = \fozf":\s mnmﬂmnnhm/ﬁnmﬁmmmmnﬂ@n
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« 50. 9 9 forww gt A, B,C,D3NRE | 50. Average of five consecutive odd
1 3 418 | A 3 B o1 o €1 numbers A, B, C, D and E is 41. The
@ 1977 product of A and E will be.

) 1517 (a) 1977
b) 1517
(c) 1665 &
(c) 1665
(d) 1591
(d) 1591
S1. ;

X e m}%’r & 60% B AT &, A1 | 51, If 60% of the student in a school are
DT 6 G 812 ¥ e arerhl boys and number of gils is 812, then
T B the number of boys will be
(a) 1218 (a) 1218
(b) 1200 (b) 1200
(©) 1217 (c) 1217
(d) 1210 (d) 1210

52. WG % OHA U 3G q1 36 uid I | 52 Atthe time of marriage the average age
g 3g 23 9 off | 5 9 % &g I of woman and her husband was 23
T8 1 99 %1 91 § | 379 °R IRER 6 years. After five years they have one
aiad g Rt 22 year kid. Now what is the average age
l of whole family ?
(2) 19
(a) 19 years
(b) 28574 |
(b) 28.5 years
(c) 23 T l (c) 23 years
(d) 29399 ! (d) 29.3 years
CGP-19-02 s Pagje No. 22 _ B\ 4 Set-B :
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41 39 A, 90 P8 e
W o 7 & P

—

Scanned by CamScanner



r- w;_‘g:\gjg,g;@ I S,
-

llllllIIIHIIIIH.HIIIIIIIIIIIHII

3 TR 12, 15 §,3M: | 5. The numberwhose 125 Sois 1754 will
(8) 1404 be
(b) 1440 (@ 1404
(c) 1044 (b) 1440
(d) 404 (©) 104
(@ 404
S POTts0m st mamt | sy, e valueof 326 £ 8400 155%0f 760
(@) 2912 is
(b) 2843 (a) 2912
(¢) 2722 (b) 2848
(d) 2802 8 f;;;

55. QTR S : 9% sruw i § | AR o

55, Two amounts are in the ratio 8 : 9. Ifthe
T 242, A ESRUREE first one is 24, then the other quantity is
(@) 27 (@) 27
(® 9 ®) 9
(c) 7 () 7
(d) 63 @ 63

5. PR ERF AT ISHA, 25% | 56. Twice of a number decreased by 15

TOH 8, 79 98 &I & - equals 23, then that number will be
(a) 20 | (@) 20
() 25 : ®) 25
(c) 30 | (c) 30
(d) 35 ! @ 35
0
CGP-19-02 Ay, 27, PageNo.23 Set-B
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57. AR n 3 p A fwm F@ E A ST

If n and p both are odd numbers, then -

Frefelan gemett i & < € gen @ which will be even number of the
gt 9 following numbers ?
(@) np (a) np
() n+p (b) n+p
(c) mp+2 (c) np+2
(d) n+p+1 d) n+p+l
58. AXAxBF IR A BHEAE; | 58, If A x B means A is in the South of B,

A+BHEIFUR, A, BHFITWAY, A+B A + B means A is in the North of B,
# o § A B ¥ T ¥ g A + B means A is in East of B, A-B
A_Bmaqgf-g’A’Ba;qﬁ-qﬁg,;ﬁ means A is in the West of B, then in
P+Q+R—Sﬁsqé;mﬁa%afém P+Q+R—Sinwhichdirectioniss
i 7 with respect to Q ?
(a) TR (a) South-East
(b) TR (b) South-West
© T (c) North-East
@) I (d) North-West

 59. aﬁ+$ranf+,—aﬂaq*ei+,xfraqﬁ~ 59. If+ means <, — means +, x means — and
3+ o <, T | + means x, then 16 + 12+4-6x8=2
16+12+4—6X8=? l (a) 36
(2) 36 |

| ®) 4
(b) 46 |
© 196 | @
@ 162 ll @) 162
CGP-19-02 » 3 Page No. 24 Set-B
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0. AB : o
; mﬁa%m&cﬂf”ﬂ% | 60. AisafricndofBandBlsafrlcndOfC-
| A.C Ff | Conclusion : A is a friend of C.
i The above conclusion is
& R (a) True
®) sy (b) False
© Hﬁ‘ﬁa—,‘% I (c) Uncertain
() g (d) Irrelevant
61. Q‘Eqﬂmqmmmmé 14379 | 61. In an examination Sudhir’s position is
TPIT RN 18972 | e g 14% from the top and position of Pankaj
T AN & 26572 @1 ww @ G is 18" from bottomn. If Sudhir’s position
g is 26" from bottom, then what is the
iti nkaj from top ?
(a) 265 position of Pankaj from top
o (a) 26lh
(b) 22a
. (b) 22"
(c) 20a
(c) 20"
(d) 21=r @ 21°

62. TH UG g § 15 fre a1 B et | 62. A clock is fast by 15 min. in 24 Hrs. It

2 1 38 U 12 791 T fopan i 2, | is made right at 12 noon, what time it
4 am WG} & fpean g g 2 show at 4 am ?
(a) 4:10am ‘ (a) 4:10am
(b) 4:15am (b) 4:15am
(c) 3:45am ] (¢) 3:45am
(d) 4:30am ! (d) 4:30am
GP-19-02  * PageNo.25 Set-B
212 b
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63, 5 & 7 anee s, < 5 W T

63.  Which letter comes in place of “?" in the

following letter series ?

\T@M\

Page No. 26

Eacka 3T 9
GDFCE 7 GDFCE_1.
(a) A (a) A
(b) B (b) B
(c) H (¢) H
(d) I (d 1
ot 64. 9 & 7 Fnem ST@ef #, ‘2 WM W | 64.  Which letter comes in place of ‘7" inthe
<9 TT SR QT 9 following letter series ?
IDYTO _? IDYTO_ 7
(a) I (a) I
(b) J (b) J
(c) K (c) K
(d L (d L
S 65 & 7 aew g@en 4, 2 % WHM W | 65. Which letter comes in place of 7’ in the
I T 3TET ST 7 { following letter series ?
WTROMJ 2 I WTROMI T
@) F = (@) F
b) Z | (b) Z
(c) H I (¢ H
(@ K l d K
CGP-19-02 T
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i
" erumnmm

| i
w'ﬂ"r@ﬁqﬁ%i FEE WTE | 70, oI g R
@) -~ OREELETSH
(®) - g (b) Tfed
©) - Sy (c) HHT<d T
d) - ¥ (d) SruEIa T
67. ] y N ”
Mmﬁﬁq~mm%? gt ;3%;::; ....... HgTe o e @M
(a) ~aﬂ3q1 :
®) - (@) e
¢l @R
© -7 (b) =Te
@ -v () TR
(d) HTEER
68. BEER .
H T 312 i 72, UERRY A FH-m a2 7
(a) weh
(a) T
(b) womey @
(&) ey - (c) I
d =
Sl | @ fa
69.  WRRGH F wreg 1 wger 4 7. o g ¥ R sehtad e -
(a) @ﬁrﬁ (a) qﬁ-sa-[m
(b) EA-TR () wid-slar e
(c) el | © s
(@) whd | @ W
EGP - 1;- 02 Page No. 27 Set-B
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|| I COR N b:-ﬁ‘\::‘-}-;.‘:' :A o :\".;“" '.‘\gi“; '.‘q".'ﬁ}.{‘, Sy
£ Cosis Cim iy R

P

[y

AR

)
&

S Y

-
R

o T4 TR AL et 79, et e i e RE @
(@) T& TR,
() i @
(Z) e (v) e
NEERE T e——y (@) e
(a) Touseh ey \
) fre 0. 3 g Rt v A T e LA
(c) ﬁ@T _ (a) ﬁmﬁw
(d) ¥her (b) TEUEUH
(c) =ESIH
« 76, BEETE W @ H fEd-wHeefi R - (d) R
(a) &
(b) & 4 81, wHETE TRY F ToA-T “I ¥ %
(c) e ... 35 TR 1 T &
(d) 7@ (a) GRS I
) @ ) ORESEEL
W77, <R G IH gd, T W S 99 © @ 75
TRt 7Y 8 -
@ v (d) SHEOT FEHRET
?:)) j; | 82, “sYereel B BAETE” TR % dEH-
(d) Hu | @i . L.
| (a) . TR 8% @ €. yoa
8 TR, TERAR Y e w R
a2 | o) < P . g
(2) Tl I (c) <. W 9 7elE W o, e
(b) e | T
© | (@) < fredere @R @ @ d
(d) S I BRI
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() Waq,q? Froi LLF 88, rlivyr a1 Gl e B

®) Wy, (1) a1 + fore

©) Rty (b) 3 + Hfiry

(@) W4y (c) A+ arfira
e (d) arafy 4+ 5

O wm e | 89, oot s o

(b) Ty - (0) ot w fired dur |

(0) e (b) ¥ we i e e |

(d) Sy (c) 1% el wt fireeh e |

(d) 1 wa % I freeh dwr |
B, T sremrm g 1" e 3 e

W 90, Preffar A g med
(a) g (a) wwfd
(b) @ (b) wrE
(¢) 3 ORI
) °m (d) WE
B6. ST W o st v 9 91. T % Ree e 0
(2 D (a)
(b) = (b) =R
(c) W (c) Ui
(d) &% | (d) %
§7. oS T g e o el | 92, “HierRAE o -1 HHH 2 7
(@) FH T (@) gl
(b) R (b) R
(c) e i @ | @ fa
(d) TR T ot g @ @
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LA JUINSOER
€“ 93, ‘Eﬁgtg’ T S e ww-tiEw ¥ 97, ﬁgfﬁ;ﬁﬁgtiﬁ'ifii S
37T AT R 7 %m—@—‘ﬂ'ﬂ"ﬁuai ”%?
(2) ¥ —— A
(b) fﬂiﬁs (a) ITE§75$F;T
) (b) Tt
(d) Tersartt~=filt o W I
04, ‘THER W HG @ F (@
HH-HAE ? N
: - ThR 7 7
(@) . Trmagam wes wW =L | 9. ‘m’mﬁﬁﬁq
[ELRERIRIEED @ e
(b) s ﬁw?; ek W 8 (5) T
© ¥. R wes W o (c) W
fertragem st (d) Sfere
d) . TyregorR wes wW L
? gﬂ@qﬂa’q’f -99. mﬁﬁﬁﬂﬁﬁaﬂﬁﬁwg"é'ﬁﬂ
FEAE ?
95, Fferigg o ¥ T e % (a) T
e )
(2) TRl o w0
(b) e _
(c) W@ | (d) IR
(d) S |
| 100. B AR ISR
96. *Tﬁaﬁajaﬁ.:wmaﬁtm’%a@ﬁ%: % @) T
@ Emaﬂmﬁ | ©
(b) . FoeH = | o
(c) . T =g WeRH ]
() @, vgEh l ) I
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